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Q.P. Code : 13224

Second Semester B.Com. Degree Examination, May/June 2019
(CBCS Scheme)
Commerce

Paper 2.6 - QUANTITATIVE ANALYSIS FOR BUSINESS DECISIONS - I
Time : 3 Hours] [Max. Marks : 70

Instructions to Candidates : Answers should be written completely either in English or

Kannada.

SECTION - A/ &%n - &

Answer any FIVE sub-questions. Each sub-question carries 2 marks : (5 x 2 = 10)
8 NS AInI)mewce o emﬁ—ajz%m?ﬁ U3 2. :’ﬁzi emai—ﬁjéiﬂ 2 ©o5ned :

—

(a) Define Statistics.

3033325335'&6 a%agjdag 32,

(b) State the various measures of central tendency.

PR T30 INTIT PRI, 892

(c) What do you mean by current year?

d) J3F Honverd?

(d) What is TRT?
TRT 30¢g oondesv?

(e) If X=13, Z=15, find Median.
30030 = 13, waB0R03 30030 = 15 wen 063w WSy 392

() What is tabulation?
TEIe500 20TTVER?

State any four merits of Standard Deviation.

B, BROTLAFAD 0IRF)WWTLA Toew, ouSalRennYRy S92
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SECTION - B/awen - 9

N

Answer any THREE questions. Each question carries 6 marks :

S 3YNT adoox)merse Soedy IBnen evgda. X3 ?ujé;lﬁ 6 ©oBneL !

Construct the consumer price index number using family budget method :
Do 323, 301590838, FYNT BI0BE, BokOW WOTRE) IFIVBE, FoB> HRBAND :

Items : A B C D E F
IFERLYD :

Units : 100 80 30 10 8 2
O0AEI R

Price in 2015 (Rs.) : 40 30 70 30 20 900
23 2015 (Bw.) :

Price in 2018 (Rs.) 60 45 100 50 40 1200

W& 2018 (Tw.) :

From the following data compute Median :
No. of Workers

Income in Rs.

More than O 100
More than 1000 90
More than 2000 75
More than 3000 S0
More than 4000 25
More than 5000 10

B FIYNT S&300T SO TID) FoBd LR

esT3o00 (BL.) FFTC 0,
0 308 Bu), 100
1000 3,08 323, 90
2000 03 B3, 75
3000 08 &23), 50
4000 038 523, 25
5000 03 &), 10
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(3 x 6 = 18)
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4.

Calculate quartile deviation from the following data :

B1 SUYNS 300w wBoFFE HrsedabiR Fomd HROWD :

X: 15 24 33 42 51
F: 3 5 15 11 5

From the following information find :
(a) Which of the factory pays larger wage bill?

(b) Which factory wages are more variable?
Factory A Factory B

Number of wage earners 250 200
Mean wages (Rs.) 40 45
Variance 100 225
B3 FINT S70&H30200T :
mmgdowdmdéeﬂ?o.

(a) o3 FoRF RO 5235 E{ACSIV) We3T

(b) 035933 FowrB 0ol éz.bwawoafoim} ) ﬁowésmdmdafogdowd@l 392,

TN A oS B
Zowd BBECIVS FPFOD 250 200
£0030 Zowe (TR n¢d) 40 45
ol 100 225

scored by 50 students in an examination are given below. Taking

The marks

class interval of 10-20, 20-30, 30-40 etc., preparc a frequency table :

2,000 566§odoém 50 m%@mw $ej80@03 WOBNITY, n€280330. 3meods 10-20, 20-30,

30-40 003 B2UT, €333,3 0308, Twd
11 29 30 71 85 94 16 24 39 65
41 55 63 81 92 77 79 80 37 53
58 48 41 39 49 41 51 74 57 52
18 55 64 75 28 24 38 48 51 58
65 78 56 47 52 63 58 38 47 55
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SECTION - C/&eri = &
14 = 42)

; : arks : (3 x

Answer any THREE qustions. Each question carrics 14 m

neo !
o SURT alnyEeEte Soed FEren evgon. I3 FF! 14 wod

7.  Calculate Mean, Median and Mode from the following data :

BYAS 300 30930, JOGT WBOSOINIB 303 &HBOWD :

80 90
Marks (above) : 10 20 30 40 50 60 70

&®oFNYN03 m% :

17 5
No. of Students : 100 97 87 74 50 37 25

:)maé&rrie} 303% :

_ . . RT
Construct Fisher’s ideal index from the following and show how it satisfies T

and FRT :

8 3INT TYRDT HBO°T Iint-13 fifawazsoﬁdai?i 303> oB0oVD. v et TRT 303 FRT

JOCGTNYR), %érifae?"mgdowdag 3003 :

Commodity 2015 2018
JTPE

Price Quantity Price Quantity
A FiferaSpl] AL 203008

A 20 10 25 12

B 9 20 16 25

C 4 12 14 16

D 12 7 35 17

E 10 10 30 15
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10. Convert the following distribution into more than cumulative fre

Uy ouvuLvwu

U YU uVUuUoL

'y

-P. Code : 13224

Life of two models of refrigerators obtained in a survey is given below. F ind which

model has greater uniformity of life :

VB InTOM 88dcs0m odog e eodzy B st gRBRNES. odns IREdodh 8xdeson

o33 BabR wodde ITTNW?

Life (No. of years) No. of Refrigerators

BabR) (I3eried) 8@des0m odrogne Foad,
Model ‘A’ Model B’
0030 ‘A’ 389 B’
0-2 6 3
2-4 15 16
4-6 13 -
6-8 8 18
8-10 5 .
10-12 3 1

quency and less

than cumulative frequency and find the median graphically. Verify the result

through actual calculation :

wmw.—q Sncot n° Forie I Wn® &FZTN wEePOWY, dot;f?sﬁﬁa&gt Serou3dm Junes

B0m> HBOWD FoMH VBT, FOCH

Wages (Rs.) : 0-20 20-40 40-60

%00 (Cn.) :
No. of Workers : 10 35 90

L{3x]arlele] 730936 :
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i eries :
11. Calculate Karl Pearson'’s co-efficient of skewness from the following s

Bt 3UNS IbIoor FeerE LU ITOIIT oeds S8BOBIR), TR LB :

X Frequencies
uZZF® Foad,
0-10 4
10-20 9
20-30 15
- 30-40 8
40-50 6
S50-60 5
60-70 3
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